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from roboid import * P

hamster = Hamster ()

while True:
if hamster.left proximity() > 10:
hamster.wheels (30, 0)
else:
hamster.wheels (0, 30)
wait (10)

#include "roboid.h"

int main(int argc, char *argv[]) {
hamster create();

while (1) {
if (hamster left proximity() > 10)
hamster wheels (30, 0);
else
hamster wheels (0, 30);
wait (10) ;
}

return O;
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from roboid import *

hamster = Hamster ()
while True:
if hamster.left proximity() > 10:
hamster.wheels (30, 30)
else:
hamster.wheels (0, 30)
wait (10)

#include "roboid.h"

int main(int argc, char *argv[]) {
hamster create();

while (1) {
if (hamster left proximity() > 10)
hamster wheels (30, 30);
else
hamster wheels (0, 30);
wait (10) ;
}

return O;
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#include "roboid.h"

int main(int argc, char *argv[]) {
hamster create();

while (1) {

hamster wheels (hamster left proximity (), 30);

wait (10) ;
}

return O;

from roboid import * P

hamster = Hamster ()
while True:

hamster.wheels (hamster.left proximity(), 30)
wait (10)
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from roboid import *

A

hamster = Hamster ()
while True:

hamster.wheels (hamster.left proximity() * 1.875, 30)
#include "roboid.h" wait (10)
int main(int argc, char *argv[]) {
hamster create();
while (1) {
hamster wheels (hamster left proximity() * 1.875, 30);
wait (10) ;
}
return O;
}
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from roboid import * P

hamster = Hamster ()

state = 0
while True:
left = hamster.left proximity ()
right = hamster.right proximity ()
if state ==
hamster.wheels (left * 2.5, 50)
if right > 15: state =1
elif state ==
hamster.wheels (50, right * 2.5)
if left < 5: state = 2
elif state ==
hamster.wheels (50, right * 2.5)
if left > 15: state = 3
else:
hamster.wheels (left * 2.5, 50)
if right < 5: state
wait (10)

I
o

#include "roboid.h"

int main(int argc, char *argv[]) {
int state = 0, left, right;

hamster create();

while (1) {
left = hamster left proximity()
right = hamster right proximity()
switch(state) {
case 0:
hamster wheels(left * 2.5, 50);
if (right > 15) state = 1;
break;
case 1:
hamster wheels (50, right * 2.5);
if(left < 5) state = 2;
break;
case 2:
hamster wheels (50, right * 2.5);
if (left > 15) state = 3;
break;
case 3:
hamster wheels(left * 2.5, 50);
if (right < 5) state = 0;
break;
}
wait (10) ;
}

return O0;
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from roboid import *
hamster = Hamster ()

state = 0
count = 0
while True:
left = hamster.left proximity()
right = hamster.right proximity()
if state ==
hamster.wheels (left * 2.5, 50)
if right > 15: count += 1
else: count = 0
if count > 10:
count = 0
state =1
elif state == 1:
hamster.wheels (50, right * 2.5)
if left < 5: count +=1
else: count = 0
if count > 10:
count = 0
state = 2

elif state ==
hamster.wheels (50, right * 2.5)
if left > 15: count +=1
else: count = 0
if count > 10:
count = 0
state = 3
else:
hamster.wheels (left * 2.5, 50)
if right < 5: count +=1
else: count = 0
if count > 10:
count = 0
state = 0
wait (10)
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from roboid import * P

hamster = Hamster ()

def slalom(left speed, right speed, check):

count = 0

while count < 10:
left = hamster.left proximity ()
right = hamster.right proximity ()
hamster.wheels (left speed(left, right), right speed(left, right))
if check(left, right): count += 1
else: count = 0
wait (10)

while True:

slalom(lambda 1, r: 1 * 2.5, lambda 1, r: 50, lambda 1, r: r > 15)
slalom(lambda 1, r: 50, lambda 1, r: r * 2.5, lambda 1, r: 1 < 5)
slalom(lambda 1, r: 50, lambda 1, r: r * 2.5, lambda 1, r: 1 > 15)
slalom(lambda 1, r: 1 * 2.5, lambda 1, r: 50, lambda 1, r: r < 5)
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#include "roboid.h" case 2:
hamster wheels (50, right * 2.5);
int main(int argc, char *argv[]) { if(left > 15) count ++;
int state = 0, count = 0, left, right; else count = 0;

if (count > 10) {

hamster create() ; count = 0;

state = 3;
while (1) { }
left = hamster left proximity(); break;
right = hamster right proximity(); case 3:
switch(state) { hamster wheels(left * 2.5, 50);
case 0: if (right < 5) count ++;
hamster wheels(left * 2.5, 50); else count = 0;
if(right > 15) count ++; if (count > 10) {
else count = 0; count = 0;
if (count > 10) { state = 0;
count = 0; }
state = 1; break;
} }
break; wait (10) ;
case 1: }
hamster wheels (50, right * 2.5); return O;
if(left < 5) count ++; }

else count = 0;

if (count > 10) {
count = 0;
state = 2;

}

break;
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from roboid import * P

hamster = Hamster ()

while True:
if hamster.left proximity() > 30:
hamster.wheels (50, 0)
else:
hamster.wheels (0, 50)
wait (10)

#include "roboid.h"

int main(int argc, char *argv[]) {
hamster create();

while (1) {
if (hamster left proximity() > 30)
hamster wheels (50, 0);
else
hamster wheels (0, 50);
wait (10) ;
}

return O;
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from roboid import *

hamster = Hamster ()
while True:
diff = hamster.left proximity() - hamster.right proximity ()
hamster.wheels (50 + diff * 1.3, 50 - diff * 1.3)
wait (10)

#include "roboid.h"

int main (int argc, char *argv[]) {
int diff;
hamster create();

while (1) {
diff = hamster_ left proximity() - hamster right proximity()
hamster wheels (50 + diff * 1.3, 50 - diff * 1.3);
wait (10) ;

}

return O;




2IZ dHIAlEO 2 WHsH FM2 !










il
|
e +
l
|
|
|
I

\l@; Hamster &

- €D =B (=)= Asi




€D @@ (=)= =t

225U ) - ({4 - (35 ) x (08 ) NOEET

from roboid import *

hamster = Hamster ()

while True:
diff = hamster.left proximity() - 35
hamster.wheels (50 + diff * 0.8, 50 - diff * 0.8)
wait(10)

#include "roboid.h"

int main (int argc, char *argv[]) {
int diff;
hamster create();

while (1) {
diff = hamster left proximity() - 35;
hamster wheels (50 + diff * 0.8, 50 - diff * 0.8);
wait (10) ;

}

return O;
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from roboid import *
hamster = Hamster ()
while True:
#include "roboid.h" left = hamster.left proximity ()
right = hamster.right_proximity ()
int main(int argc, char *argv[]) { if right > 47:
int left, right, diff; while right > 5:
hamster create(); hamster.wheels (50, -50)
right = hamster.right proximity ()
while (1) { wait (10)
left = hamster_ left proximity(); else:
right = hamster_ right_ proximity(); diff = left - 35
if (right > 47) { hamster.wheels (50 + diff * 0.8, 50 - diff * 0.8)
while(right > 5) { wait (10)

hamster wheels (50, -50);
right = hamster_right proximity();
wait(10) ;
}
} else {
diff = left - 35;
hamster wheels (50 + diff * 0.8, 50 - diff * 0.8);
}
wait (10) ;
}

return 0;
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— http://weblog.jamisbuck.org/2011/2/7/maze-

generation-algorithm-recap



TalstMELILC.
http://hamster.school

akaii@kw.ac.kr



